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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-4

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS ERE
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24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0
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m=480, FV0=0
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—— MW
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m=635, FV0=0

53. 0 A
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51.5 4

51.0 -

50. 5 A
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M_w
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6&0
m=805,n FV0=0

T
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53.0 A

52.5 -
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51.5 4
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P3-4

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

08:30 273 150. 0 2.583 E  1BRi%e08:30 Bzl (RAEREE)
09:10 273 150.0 2.583 5| {Ri%@09:10 Bz (FRAERSE)
09:50 273 150.0 2.583 = {RRiB009:50 B (RFAEEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:20 273 150.0 2.583 =l RiB011:20 B3 (REAEESE)
12:05 273 150.0 2.583 =l {Rige12:05 B3 (RAERSE)
12:55 273 150.0 2.583 S| {Rige12:55 B (REAERSE)
13:50 273 150. 0 2.583 E| {Rig@13:50 B3h (RE{ERSE)
14:25 273 150.0 2.583 E BRige14:25 Bz CGRAERESE)
15:05 273 150.0 2.583 S| {Rig@15:05 B3 (RAERSE)
15:45 273 150. 0 2.583 E BRige15:45 Bz (GRAERSE)
16:35 273 150.0 2.583 5| 1RiR@16:35 Bz (KREAEES)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

##[EKECE (1830.0 vs 4510.0) i d 5




P3-4_0, Day=67 (2025-06-04)

150 e T/ —/———
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2816 - 3000
2400 448
100 - 1984
L 2000
1700 50
233
50 - L 1000
80
60 Warning: lcol [FVI',| "FVO’'] missing
0 -0
200 4 mmm Vi — wme B9
T FRV maxM
300 I R Tt Tr 0
E_ W]
— 100 - =
E HEHEIIEEEEEE IR 00
= 50 P'fr 1 i1l
* I:tlllliiiiiiiiil
1.0 15
U
0.8
0.6
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 B
0.6
0.4
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6
0.4
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
— Bylnit!'@69 01:50: ET=1251 Fg=1650.0 Ro=324.0 ?
> I 3000
S 200 A :
\Q- 1
B " L 2000
< 1 © @ ® ®
E 100 A : /H/I —o—e o—o
- | L 1000
1
. 1 x
0 N len o 0
0] 1] 2131 415161 7 8] 9 i1 [ 12113 1415516171188 19]217]2 ]2]23
o | | % | ® | W | W | | w | % | #& | & | % | #& | & | #s | & | #& | B8 | 6& | #8 | #& | & | #& | & | B | 000
c | 1
S 2001 ByEt @D67 19:07: ET=1726 Fg=2448.0 Ro=nan o e e o
N 1
> /-/' ‘ ' —®
E 100 » ——
| L 1000
o 1
\J§¥
0 — - 0
0] 1] 2131 415161 7] 8] 9T Tit10][ 111213 14116171188 []19]217]2 ]2]2
o | | % | ® | W | ® | | w | % | w& | & | % | #& | & | #s | & | #& | B8 | #& | B8 | #& | & | #& | & | B | 000
= i 1
S 2001 ByloFyI@D69 01:50: ET=1526 Fg=1800.0 Ro=406.0
= I L 2000
- | L 1000
1
Lu 1 ¥
1.0 — — 0
0] 1] 2131 415161 7] 8] 9 Tttt 121314161617 ]1188]19]217]2 ]2]2
0g | P | M | ® | | | m | W | | | | m | [ w | m | m | w [ | || m ||| mm
0.6
0.4
0.2 -
0.0
2000 4 _— 4
[ ] | _obs
1500 - —@— PPFD_obs
1000 -
500

60 -

40 -

RH
[ ] RH_obs
[ ) RHo_obs

RV (ml d-1)

L

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



16.

18.

18.

18.

18.

18.

19.

18.

18.

18.

18.

18.

18.

19.

19.

19.

19.

19.

19.

19.

T T
800 1000

m=585,m FV0=0

T
600

30 A

25 -

20 A

M_E

5é0 565
m=725,n FV0=0

00 ~

95 -

90

85 ~

80 -

75 1

70 -

750 7é5
m=865,n FV0=0

50 A

45 -

40 -

35 -

30 -

25 A

20 -

E

i
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870 875

16.

16.

16.

16.

16.
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18.

18.

19.
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19.

19.

19.

18.
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19.

19.

19.

19.

19.

19.

19.

m=455, FV0=0

90

85 -

80

75 -

70 A

M_E

460 4é5
m=620,n FV0=0

50

45 -

40 -

35 -

30 A

T T
620 625 630

m=755,m FV0=0

20 A

15 4
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05 ~

00 -

95 A

90 -

—o— ME

.
il

755 760 765

m=900,m FV0=0
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55 -

50

45 -

40 -

35 A
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900 905 910
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m=495, FV0=0

50 A

45 -
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25 A

20 A

M_E

560 565
m=655,n FV0=0

70

65

60 -

55 A

50 -

45 ~

40 -

657.5

T T T
662.5 665.0 667.5

m=785,m FV0=0

T
660.0

30 A

25 -

20 A

15

10 ~

—o— ME

785 790 795

m=945,m FV0=0

60

55 -

50 A

45 -

40 -

35 A

30 -

-o— M_E

945 950 955

m=540, FV0=0
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18.0 4

17.9 A

17.8 4
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19.

19.
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19.
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19.

19.
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19.

M_E

T T
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m=690,m FV0=0
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80 -

75 A

70 -

65

60 -

—o— ME
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T T
690 695 700

m=830,m FV0=0

40 ~

35 -

30

25 A

20 ~

15 1

10 4
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8é5 8&0
m=985,n FV0=0
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70 A

65 -

60 -

55 -

50 -

45 -

40 -
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985 990 995




19.

19.

19.

19.

19.

19.

19.

51.

51.

50.

50.

49.

52.

51.

51.

50.

50.

52.

92.

51.

51.

50.

m=1040, FV0=0

70

65

60 -

55 1

50 -

45 ~

40 -

M_E

T
1040

1d45 1650
m=540,n FV0=0

—— MW

5&5 5%0
m=690,n FV0=0

.(‘r)‘/)‘/f//‘).F‘L\'\'K\.::\.\i*j.

655 760
m=830,n FV0=0

51.
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50.
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51.

50.

T T T
600 800 1000

m=585,m FV0=0
5 —— MW
0 .
5 .
0 .
5 .
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m=725,m FV0=0
—— MW
0 .
5 .
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5 .
0 .
7é5 750 755
m=865,m FV0=0
57 —o— MW
0 .
5 .
0 .
5 -
865 850 855

52.

51.

91.

50.

50.

92.

52.

51.

51.

50.

52.

52.

51.

51.

50.

m=455, FV0=0
49 -
—— MW
48 -
47 -
46 -
455 4é0 465
m=620,m FV0=0
04 —@— MW
5 -
O -
5 -
0 -
Géo 6&5 650
m=755,m FV0=0
517 —— MW
O -
5 -
0 -
5 -
755 760 765
m=900,m FV0=0
57 —o— M_W
0 -
5 -
0 -
5 -

900 905 910

m=495, FV0=0

51.0 4

50. 5 A

50. 0 A

49.5 A

49.0 A

48.5 A

M_w

560 565
m=655,n FV0=0

52. 25 A

52. 00

51.75 A

51. 50 A

51.25 4

51. 00

50. 75 -

—— MW

657.5

53.0

T T T
662.5 665.0 667.5

m=785,m FV0=0

T
660.0

52.

52.

51.

51.

—— MW

7

760 755
m=945,n FV0=0

785

52.
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51.

50.

50.
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W

945 950 955




m=985, FV0=0 m=1040, FVO0=0
—— MW | 530- —o— MW
52.5 -
52.5 -
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51.5 52.04
51.0 - 91.5 1
50. 5 . . 51.0 1 ' .
985 990 995 1040 1045 1050
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P3-4

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

07:05 300 150. 0 2.583 E| {Rig@07:05 Fzh (REERSE)
07:55 300 150.0 2. 583 & 1Ri%e07:55 Fzh (KREAERSE)
08:45 300 150.0 2.583 E[ 1B2i&e08:45 Fz (RFAEREEE)
09:45 300 150. 0 2.583 E| {Ri80@09:45 Fh (REERSE)
10:40 300 150. 0 2.583 El {Ri18@10:40 Fzh (GREERSE)
11:30 300 150.0 2.583 =l {Rige11:30 F31 (GREAERSE)
12:20 300 150.0 2.583 Sl {Rige12:20 Fz (RAERSE)
13:20 300 150. 0 2.583 E| {Rig013:20 Fzh (REERSE)
14:10 300 150.0 2.583 E BRige14:10 Fz1 CGRAERESE)
14:55 300 150.0 2.583 S| {Rige14:55 F3 (KRAERSE)
15:45 300 150. 0 2.583 E BRi%e15:45 Fz1 CGRAERESE)
16:40 300 150.0 2.583 E|  {Ri1g016:40 Fzh (KRE{EREE)
24t 3600.0 (12%) 1800. 0 32 KEC: 2080.0, PH: 6.0

#HEKRECE (1910.0 vs 4357.0) 35




P3-4_0, Day=66 (2025-06-03)

150 Fm—————F——————F——————F——————F——————F——————F-—————Fe—————F——— ]
VI, V@FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1984 | 009
1700 728 .
100 1 340 371 1500 &
F 1000 ~
50 A =
330 60 L 500 "
I46 Warning: lcol [FVI',| "FVO’'] missing
0 + - -0
G — we P30
I 200 - FRV maxM
0 R A R rrrrrirrrrerry T
Q [
E 100- I ]
> - 20
i e I 0 A N
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
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< H =
>~ I ~
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o 1 3
b o -l e e o |
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0.4 1
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P3-4

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

07:50 273 150.0 2.583 = {RRiB007:50 B (RFAEEE)
08:30 273 150. 0 2.583 E  1BRi%e08:30 Bzl (RAEREE)
09:20 273 150.0 2.583 5| {Ri%@09:20 B3 (FAERSE)
10:05 273 150.0 2.583 =l RRi8@10:05 Bz (RFAEESE)
10:50 273 150.0 2.583 =l RRiB010:50 Bzh (RAEEE)
11:40 273 150. 0 2.583 = RiB011:40 Bz (RAEESE)
12:30 273 150.0 2.583 =l {Rige12:30 B3 (RAERSE)
13:15 273 150.0 2.583 (Z=| 1Ri%e13:15 Bz (REAERSE)
13:55 273 150.0 2.583 |Z=| {Ri&e13:55 Bz (REAEZEHE)
14:25 273 150.0 2.583 (Z=| 1Ri&e14:25 Bzh (RAEHRSE)
14:55 273 150.0 2.583 (£ =| {Ri%e14:55 Bz (REAERSE)
15:30 273 150. 0 2.583 |Z=| BRi&e15:30 Bzl (RAERESE)
16:10 273 150.0 2.583 (Z=| 1Ri%e16:10 Bz (FRAMEHSE)
17:00 273 150.0 2.583 (Z=| 1Rige17:00 Bz (RAERSE)
21t 3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

R ERRETC (600) 57 EA (268. 0) 1N, AIREH T % AREERS %2 X ER
2RI\ L PRIERE336.0 ml.
#[EKECE (1907.0 vs 4607.0) 5



FRV (ml plant-1)

P3-4_0, Day=65 (2025-06-02)

T e g g e S S B Sy

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 193;_7107— 2000
100 L 1500 1,
F 1000 ~—
504 610 70448
330 - 500
20 Warning: lcol [FVI',| "FVO’'] missing 46
0 - -0
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